FJ started a 31 day treatment program which involved daily injections of a medication. The first day’s injection SCORE: /5 PTS
was 18 mg, and each subsequent day’s injection was 6% less than the previous day’s injection. Find the total amount of the injections
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Use Pascal’s Triangle to expand and simplify (2n* —r°)°. SCORE: ____ /5PTS
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Using the formulae for the sums of the powers of integers in your textbook, find the sum Z (2n* -5n+3). SCORE;: /4 PTS

n=l

Your final answer may NOT use ... NOR Z It may use +, —, X, +. (It does NOT need to be simplified into a single number.)
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Use mathematical induction to prove that is 3 a factor of n® +6n* +8n forall positive integers 7 . SCORE: /10 PTS
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Find the rational number representation of the repeating decimal 0.4? using the method discussed in lecture. SCORE: /6 PTS
NOTE: Only the 27 is repeated.

O4r 00X+ 0.00027+ 0.0000027 + ... .
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